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Instruction : The exam contains 6 pages with 30 questions.
For each answer, write the correct number down
AND fill in the bubble(s) on the answer sheet.

1. Which of the following statements is NOT correct?

(1) Ball: “An angle is formed when 2 straight lines cross at
a point.”

(2) Amp: “A line that can be straightly extended in both
directions, without ending, is a straight line.”

(3) Nan: “A triangle that is composed of a right angle is called
a rectangular triangle.”

(4) Joy: “A rectangle is a quadrilateral in which all four angles
are right angles”

(5) Jib: “A quadrilateral with four right angles and four equal

sides is called a square.”

2. What digit does @ stand for?

[]
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+
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=

3. From the numbers on the following sweepstake coupons, if the
winner is the person whose sweepstake coupon has the greatest

value of digit 7, who is the winner?

(1) Nan |8706

) Joy |7965

(3) Amp | 9627

(4) Jib 3675

(5) Ball |9807
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4. The sums of math scores for each student group in Nadech’s class
are shown in the table. What is the score difference between the
group that has the highest sum and the group that has the lowest sum?

Sums of Math Scores per Group (Unit: Scores)

Group No. 1 2 3 4 5

Score 585 | 497 | 556 | 573 | 487

5. To obtain the image on the right hand side, which direction should

the left-hand image be rotated?

6. Which of the following statements does NOT correctly describe

the mathematical statement of division below?

24+8=3

(1) Ttisread as “24 divided by 8 is 3.

(2) 3is the result when dividing 8 with 24.

(3) When 24 is equally divided into 8 groups, each group would
have 3.

(4) If we subtract 8 from 24 three times, the remainder is 0.

(5) When 24 candies are given equally to 8 people, each person

will get 3 candies.

7. 1f 734+397 is calculated using the following approach.

What is @?
34+397=(700+[  D+([_]-3)
=(700+400)+ ([ @]-3)

=1100+31

=1

=1131

8. The following table shows results of the survey on students’
favorite colors in Yaya’s class.
Numbers of Students for Each of Their Favorite Colors

(Unit: No. of students)

Color Red Blue Green Pink Yellow Total
No. of 5 6 4 8 30
students

Which of the following statements is correct?
(1) There are six students whose favorite color is green.
(2) Yaya’s favorite color is yellow.
(3) Ifthese colors are sorted, starting from the color that most
students like, the order is yellow, blue, green, red, and pink.
(4) 30 students participated in the survey.
(5) The number of students whose favorite color is blue is twice

the number of students whose favorite color is pink.
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9. Stones are arranged in the following pattern.

[ N N

[ X X ) [N NN

[ X [ X N [F XN

[ ] [ N ] [ N ] [ N N ]
First Second  Third Fourth

How many stones are there in the sixth arrangement?

10. The following conversation is between Ton and a pharmacist.

Ton: How many tablets of vitamin should I take
daily?

Pharmacist: You should take 2 tablets per day.

Ton: Then, how many tablets are there in a bottle?

Pharmacist: There are 6 tablets.

Ton: Then, [ am going to buy 3 bottles of vitamin

please.

How many days can Ton take the vitamin he bought?

11. Numbers are written with a certain relation as shown.

@ ) @) D @ @ @ ED

Find the value of @

12. Nun has a rectangular cardboard with the length of each side

as shown.

8cfn

If she wants to make a square with a side of 4 cm, what is the

maximum number of squares she can make with the cardboard?

13. A set of cards numbered 0 to 9 has one number on each card.
If we want to make a mathematical statement by placing two
different cards at @ and @ each, what is the sum of all possible

numbers on the cards that can be placed at @?

2@]+3=|0]
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14. A number, 518, is written on a transparency paper. When flipped
to the left, it becomes a number, says @ When flipped downward,

it becomes another number, says @ Find the difference between

@ and .
=1ls

15. A piece of paper was folded three times, as shown below.

Then it was unfolded and cut by the creases. If the size of the

smallest triangle is — of the size of the original paper.

What is (@) + (D) ?

N el j! = ‘l

16. A four-digit number is made from four numbered cards,

' ‘ ' IE by using each card only once. How many

numbers greater than 6000 can be made?

17. From the image below, draw lines connecting dots to

construct angle bad, angle dca, and angle dec.

From the lines drawn, how many angles are right angles?

18. A toy factory can manufacture 54 toys every 6 hours. If toys are
manufactured from 8 A.M. to 4 P.M. with this same speed, how many

toys can the factory make?

19. How many times is the value of the number in location @

greater than the value of the number in location @?

8571 9647
;
@ ®

20. Coins are placed in the following pattern.

Find the sum of the numbers on the first 22 coins.
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21. How many digits can be filled in I:l to make the following

statement valid?

923—36[ | > 558

22. In a sport competition between blue team and white team, it
appears that the blue team got a higher sum score than the white team.
In the table below, however, there was a sport event in which the
scores were reversed; so the sum score of the white team is higher

than the blue team.
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Race Cavalry- | Tug- Hoop Gourd
battle of-war | driving | breaking

Blue 1 2 1 3 2
White 0 3 1 4

Tail Soccer Dodge | Jump

holding ball rope
Blue 4 0 3 3
White 2 1 3 5
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Find out how many sport events could the scores have been reversed?

23. In Ploy’s class, students who pay attention in class are rewarded
with compliment stickers, which can be used to draw gifts from a gift
machine. Each sticker can be redeemed for only one time and, in the
gift machine, there are 10 candies, 10 erasers, 10 chocolate bars, and

10 gift-confiscating cards. The gifts are drawn by the following rules.

® If you draw 1 candy, you would also get 1 eraser.

If you draw 1 eraser, you would also get 1 gift-confiscating card.
If you draw 1 bar of chocolate, you would also get 1 candy.

If you draw 1 gift-confiscating card or there is a gift-confiscating
card drawn together with a gift, you must return all the gifts that
you have received before.

If there is no gift left in the machine, no gift will be given out.

If Ploy wants all 30 pieces of gifts in the machine, at least, how many

reward stickers does Ploy need?

24. Chai looks at a digital clock, which shows | 15:51 | or 3 o’clock

and 51 minutes. No matter which direction he reads, either from left
to right or from right to left, he always gets the same time. Chai calls
numbers such as 1551 “Palindrome.” Find how many palindromes

that the clock displays between 1 P.M. and midnight.

25. A straight line is drawn to divide the numbers in the frame below
into two groups so that the sum of the numbers in one group is 7 times

of that in the other group. Find out what the lower sum is.

) 1 7 o 3 4
2 2
3 7 8 6 9 10
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26. A grid paper is cut along the bolded lines into 7 pieces as shown.

If the area of piece 4 equals — of the total area, the area of

piece B equals — of the total area, and the area of piece C equals

% of the total area, what is @-I-@ +© ?

27. A rectangle is composed of 24 square tiles; each has 1-cm side
length. Find the total sum of the perimeters of all possible rectangles
that can be constructed by the given tiles (valid rectangles must
contain no space and any rectangle that is the rotation of another

does not count).

28. A square is divided into eight rectangles as shown. If the sum of
all four-side lengths of a rectangle is 30 cm, find the sum of all four-

side lengths of the square?

29. Different numbers are encoded as the figures shown below. If
the encoded figure of number 89 is drawn on a transparent paper

and flipped upward, what number does this new image represent?

30. A paper stripe is written with numbers shown below.

9 8 2 3 1 7 6

The paper is cut three times along the dash lines to separate it into
four pieces, which make up four numbers. For example, a cut

shown below gives four numbers, 9, 823, 17 and 6.

example

If the paper is to be cut in a similar manner to obtain four numbers

that gives the lowest sum, what is this sum?
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